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restart;
P := prevprime(2°30);
p = 1073741789

R := rand(p):
d := 100;

d = 100
f := 1:

for i to d do
alpha := R();
while Rem(f,x-alpha,x) mod p = 0
f := Expand( f*(x-alpha) ) mod p;

/00 e
P =y £ T\ wilh 1% lins
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alpha := R();

g := Ged( £, (Powmod(x-alpha,(p-1)/2,f,x) mod p) - 1 ) mod p:
deg := degree(q);

F[deg] := F[deg] + 1; '1\

do alpha := R() od;

od
N := 10000

convert (F[30..50],1list);

[0,0,2,6,7,6, 18, 18, 44, 76, 100, 162, 244, 311, 418, 487, 578, 685, 735, 765, 744 ]
data := [seq( i$F[i], i=0..d )]:
dataplot (data,histogram,discrete,view=[30..70,default],thickness=5)
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[ > unprotect(Diff);
> Diff := proc(f::algebraic,x::name) local u,v,n,y;
if type(f,numeric) then 0
elif type(f,name) then if f=x then 1 else 0 fi
elif op(0,f)="+ then add( Diff(u,x), u=f );
elif op(0,f)="%" then
u := op(1,f); v := subsop(1=1,f);
Diff(u,x)*v + Diff(v,x)*u
elif op(0,f)=""" and Diff(op(2,f),x)=0 then
n := op(2,f); u := op(1,f);
n*Diff (u,x)*u”(n-1)
elif op(0,f)=exp then
u := op(1,f); Diff(u,x)*exp(u);
elif op(0,f)=int and type(op(2,f),name) then
y := op(2,f); u := op(1,f);
if x=y then u # Diff( int(u(x),x), x ) ==> u(x)
else int( Diff(u,x), y ); # Diff( int(u(x,y),y), x )
fi
elif type(f,function) and nops(f)=1 and Diff(op(1l,f),x)=0 then 0
else 'Diff'(f,x)
fi
end:
> Diff (2+x+3%x"2,Xx);
1+6x

> g = yRX"2%kZ-XKy+2XYy*Z;
o 2
g=yx z—xy+2yz
> Diff(g,x);
2xzy—y

> Diff(u(x)/v(x)+1/w(x),x);

d

™ u(x) (a v(x)] u(x) & w(x)

> Diff( exp(-2%x)+sin(2xx)+ln(2)*x, X );
_ —2.% i -
2e T+ o sin(2x) + In(2)

> g := int(2xxxf(t),t);
g = szf(t) dr
> Diff(g,t);
2xf(1)
> Diff(g,x);
JZf(t)dI




